\_1/ Choose the most appropriate word from the given alternatives which bears the same relatioﬁé};ji) with th

as the first two bear.
Mountain: Hill: :Tree: ?

(A) Leaf (B)  Shrub
(C) Forest (D)  Rain
(B)  Question not attempted
ﬁ%ﬁqﬂqﬁm‘rﬁﬁm‘cﬁm@r%w%WWW%W#&&Q%W@WWW
RECAC SRR ) i
(A) e B fsar
© ST (D) aufx
(E) ergafaww
/ Choose the 0odd one out. :
(A) Korea (B) Poland
(©)  Greece . (D)  France
(E)  Question not attempted
forem =1 = =y
(A) e (I ISS
(© = D) =
(B) gy
= Iflnacertalncode O is written as L, A as H, MasI,SasF,NasT,E as S,Ias A, Pas G and C as E, then h

COMPANIES be written in that code?

afs Rt e & 0 =t L, A%IH, M#IL, SH F, Na%T,Eﬁs,IaﬁA,PﬁGwcﬁE%@TW%,a‘rsz

(B)

COMPANIES ! % ferar s
(A)  ELIGHSBSF (B)
(©)  ELIGHATFS B
(E)  Question not attempted / Wﬁﬁ?f B
Vg The state bird of Rajasthan is
(A)  Indian Roller (B)
(C)  Godawan ( Great Indian bustard ) (D)
(E)  Question not attempted
TSTEIT =T TS 9&ft 1 971 22
(A) AU (B)
W&y~ e (U dfea A ) (D)
(B)  orgaia ¥
z5/ Which of the following peaks of Aravali Ranges is the highest?
(A) Gurushikhar (B)
(C) Jagra (D
(E)  Question not attempted .
SRrESf sien ¥ Frferfan R & e Sl < e 7
o e -
©) STPRT
(E) 313?1‘&?1’ g4
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‘Kalisindh Thermal Power Project’
appropriate option from below)

(C) Barmer L0 Eg; E::ner

(E)  Question not attempted .. p

B A B S ’mﬁﬁm%ﬁm«%ﬁﬁﬁw%ﬂﬁnﬁawﬁéﬂ?ﬁﬁmﬁ)
A  FmETe o & i

(©) =R ™ e

(E)  3rgaia wx =

v
Given below are two statements;
Statement (I) : Gram is growﬁ{a's “Rabi” crop in Rajasthan,

Statement (II) : Oilseeds are é;own both in “Rabi” and “Kharif” seasons in Rajasthan.
In light of the above statements,

S.choose the most appropriate answer from the options given below.
@) Both Statement (I) and Statement (II) are correct, %
(B)  Both Statement (I) and Statement (II) are incorrect. !
(C)  Statement (1) is correct biit Statement (II) is incorrect. s
D)

Statement (I) is incorrect-but Statement (II) is correct.

(E)  Question not attempted

RAT (1) : AT TS | Tl Gt o &9 3 SR S7refy 2

A (1) : ToeTes Tsreer 8 <t ofit el 3T wem & sme s S
SULh ShHT o AT T, :ﬁ%ﬁﬁﬁqﬁ%ﬁﬁ%wﬁh‘ﬁmwiﬁl
(A) =Y (I) AT HAF (I0) S (B)
(©) T (D) W & fehT e (1) T 2
(E) IHaRaws "

A (I) aﬂtm(n)aﬁﬂ%a%l
(D) W(I)W%éﬁﬂw@)gﬁ%

For the sentence given, choose the most appropriate answer in the passive voice from the options below:
My sister baked a cake.

(A) A cake had been baked i)[ymy sister.
BT A cake is being baked b?' my sister.
(C) A cake was baked by myrsl)lster.

0

(D) A cake was being baked% by my sister.
(E)  Question not attempted ; )

lete the given sentence c}-;oosing the most appropriate word from the GRtons below:
Comp et: s in the Indian Foreign Services and can speak many languages, He s 5
e 0 (B)  Polyglot
(A) Pessimist Ty g gﬁist
©) Philatelist ‘ )
(E) Question not attempted |

jven sentence choosing the "ws( ap;froprum.z Word from the options below! -
lete the gt i1 annoyed with him for his lack of SYMpathy for the vicfin.
= B)  felt ‘

(D) feel

Comp.
She remarked that she

(A) will feel

feeling
(](-3:; Question not attempted
(
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18 located i :
ed in which of the following areas of Rajasthan? (Choose the mos;



\Ll// Which of the following is not a medicinal plant?

(A)  Emblica officinalis (B)
(D) Ocimum sanctum

Curcuma longa—

(C)  Corchorus capsularis

(E)  Question not attempted

Fretferfer 3 & e sftwea dem 72 27
(&) mTer SrfefmTT ®)  grgArar
©) FRAEIGRE (D) SR Hag
(B)  oTqdia wsr
\J/ Which part from ‘ashvagandha’ plant is used to make medicines?
(A)  Flowers : (B)  Shoots
(©) Leaves (D) Roots

(E)  Question not attempted

ST Y 3 for ferelt o S g A R ST fe ST 22

(A) %t (B) &A@
© i sy (D) 5[:.-?-} T
®)  smrRa s
\1?/' Natural rubber is a polymer of:
(A) Ethylene ® Isoprene
(C)  Ethene (D) Butadiene
(E)  Question not attempted
SITehcreh TR fohereht U diferm &2
A)  shrefE (B) omEEIRE
© = D) FerRET
(B) SIgaiaws
\1.4/ After Independence three states in Rajputana acceded to the Indian Union through the-
(A)  Instrument of Obligation (B) Instrument of Accession
(C) Instrument of Integration (D)  Accession Instrument League
(E)  Question not attempted
231 <l TAAdT o T TSI o o o) bl IR @o A foes & aa fopam mam
(A) T A S (B) FHEHE E TR
©) ngﬁfc' T TR (D) TR g oftT
(B) STguiase

\;A/ Which of the following is an institutional factor of agriculture which influences the pattern and productiv
ic
agriculture? .
(A) Size of the holding of fields (B) Topography

Crop Insurance
(C) Chemical Fertilisers (D) Crop

= e ey, A T STe e
() o g 4 T ?]33)) e
e
() TS
(B) SR TH ; [P
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\1}/ Narma’ is associated with

s Which crop in Rajasthan?
(©) Tea

(E)  Question not attempted

T TSI Bt o et e 2o

@& .

©) ==

(B)  Iydfaws

Which of the following statements is not correc

(A) Ttisa region of high mountaing peaks
(B) ;

(B)
(D)

(B)
(D)

Cotton
Coffee

FAH
T

t about the Darjeeling and Sikkim Himalayas?
This region has well distributed rainfall throughout the years.

((g)) They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the Eas2

(E)

Question not attempted

(A)  I% 3= vda Rrad &1 & 2

(B) 39 & o 9o vt ot STty & Ryt 2

(© A afm 3 Yurer e it ga i vy fewrera & iR 3
(D) 9 & = == ST 9T HIFT S e 2

(B)  3rgaia =

(A) Raunsary Muir
(Q H.J. Laski
(E)  Question not attempted

(B)

(&) TR ®)
© TS, TTEhT D)
(E) 3T 5=

\9/ Who was the first Lokayukta of Rajasthan?
(A) Justice Pratap Krishna Lohra ®B)
(C)  Justice LD. Dua (D)
(E)  Question not attempted
ST 3 TUH SAhTERs i 37
(A) SR AT F A (BD)
(C) Sifie| LN g D)
® SIaTA

()

The higher reaches of this region are inhabited by Monpa.

aﬁiﬁﬂaﬁxﬁiﬁqm%aﬁﬁﬁnﬁ%ﬁqmquﬁ%

5 : . 2 ; . 1 < f the Cabinet arch”?
Who describes Prime Minister as “Primus inter pares” (First among equals) and “key stone ©

Lord Morely
Munro

e e vl SR R S A (SHhE H we ST T a1 it v 3 TpE T 3 F9 8 i

SIERISH
TR

)

Justice S.S. Kothari
Justice J.L. Gupta

\w/Wh +is the tenure of the Chairperson and Members of the Rajasthan Human Rights Commission?
at i

@ 5 Years or upto 70 years of age wh%chever i.s ear?er
B) 3 Yearsor upto 70 years of age whichever 1.s ear Ter
( 5 Years or upto 65 years of age whichever 1's earlfer
Eg)) 3 Years or upto 65 years of age whichever is earlier
i ted )

(E) Question not attemg; e J- e,
53§W7Oaﬂf5ﬁ3ﬂ§ﬁx‘rﬁiﬁﬁ@f§ g)) ;z:mmahﬁmwsmﬁ .
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\}«l/ Who among the following was the first woman Governor of the state of Rajasthan?
(B)= Pratibha Patil
(D)  Margret Alva

(A) Kamla Beniwal )
(C) Prabha Rau L0
(E) Questlon not attempt(;d )
(A)  wHaT ST ]
(C) wITE 7
(B) Ifguia vy K]

"2{ The Planning Commission of I

i

ndia was formed on

= HIEIAT

(B) rrf%rmwf%a
(D) WFRE 37ear

(B) 15" March 1950
(D) 20 October 1950

(B) 159m= 1950
(D) 237K 1950

(23/ Vergheese Kurien is known as the father of which revolution in India ?

(B)  Blue Revolution
(D) Red Revolution

Sfist i St qra ﬁwmﬁr%m%wﬁwm%‘?

(A) 26" January 1950 (7]
(©) 1% January 2015 _BZI b
(E)  Question not attempted

R < AISHT STRT H7 o

(A)  26SH={T 1950 ;_;;
(Q 1SHEd 2015 g
(B) Agaiaw i
(A)  White Revolution-. (¥}
(C)  Green Revolution {7
(E)  Question not attemptéd)
(A)  Fasifa

© =Rawif ,""Zi'
(E) SHiayus )

|

(B) et shifar
(D) fed (&) wifa

\2/ Rakesh spends 80% of his i income. If his income is increased by 14% and saving decreases by 15%, then what v
be percentage increase in his' e‘xpendltureV

(3T 7T 3T HT 80% @ém%laﬁsaaﬁm 14% =g STl & 31} a=a 15%%&23@%% A IEF TS T R

fcera ghg grft? "j’
A)  20% 5

©) 2225% s
(E) Question not attempted

/313?1]??1 x4

(B) 21.25%
@ 25%

—z{ If ‘m’ is proportional to ‘n’ @mi m = 5 when n = 4, then what is the value of m when n = 20‘7

A ‘m’ ¥ ‘n’ GETIIIAR B T m=5 STefh n=4 &, el n=20 B T m T G T G2

(A)
©
(E)

28 ™)

25 1§}

Question not attempted;

/ AT S

B) 225
D) 20

\2( 1 h of a cold storagé] 1s s double its breadth. Its height is 3m. The area of its four walls (including the doors
The length of a

108 m2. Find its volume.

o it GIRATI A TS 39

108 m? 2 WWWW'

@A)
©
(E)

216 m?

125 m?
Question not attempted

A15] %

/ ST T

(B) 225 m?
(D) 256m’
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\2]/ Choose the 0dd one out.

(A) Congregate

©)  Aggr egate (BL Disperse

(E)  Question not attem: (D)  Accumulat
pted ale

forem =1 ey eyl

(A) T F

©) xR (B)  for-ferer &

(B) o war (D)  wfa T

There are five friends —

e Sachin, Kamal, Mohan, Arun and Ram, Sachin is shorter than Kamal, but taller thai
: 1s the tallest. Arun is a little shorter than Kamal and a little taller than Sachin.
Who is the second tallest?

A

(A) Ram (B) Sachin
(©) Kamal (D) Arun
(E)  Question not attempted

TS VT & W, e, e, e ik e W o o @ e, T A T 1 e B e e

e A § AT HH & R TR derserd

e H I o ST R 29

(A = ®) @tE
(©) =adA (D) 3R
(B) rgdia

\}( Which of the following words will come second in the English dictionary?
SISt SrsgehiT # frfeiaa & & i 61 368 TEL FFR 9T STET?

(A) Magnetic &r 1\_/I—ag_i'ca1
(C) Maternal (D) Magnify
will (E)  Question not attempted / 313’?1'&?[ e
el M/Chandoli was declared as National Park in 2004. It is located in which Indian state?
(A) West Bengal (B) Meghalaya
(C) Maharashtra (D) Haryana

(E)  Question not attempted

2004 3 Tl Y T ST S foherr T oMl 8 WL o i 8 TSA T 82

(A) OfEE ST, ®B) TEER
(©) TERE (D) sfEmTy
(B) ATANRA A
'5.1/ Which state assembly passed a bill to provide reservation in state government jobs for SC, ST, OBC and E
%7
?X;A) tOIZZr;Ol;l (B)  Jharkhand
s)is (C)  West Bengal (D)  Andhra Pradesh
tion not attempted
TH %Q?ﬁw%mmﬁﬁaﬁﬁﬁﬁwﬂwaaﬁ.ﬁ.@ﬁ‘aﬁ;g_mm.WHMO%QW
2 o fereiereh e fopam? .
() (B) S
@ G

7
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and voting? (Choose the most appropriate option from below)

(A) Article 54 &

(C) Article 312 i

(E) i e
Question not attempted

(B)
®)

)
(A)  g=eeE 54 ®
(©) IF=I312 D)
E) ometawm 2
A et wet o v Rl e 3
2. diEFE .
c. ELESY i d’
:ﬁ%(ﬁ-q& forsspaor T :
T ferest & & wratfrs saaw
(A) aetasiRbr SRR TR N
©) T a 3R e % (B)
\,3/ () rgaRa s e
4 o e e A g e &
a. 8T~ ™ b
ct TererEan d~
3 R S '
e feredt 3 & waitfers sugw® i
(A) FaAc,d3We i iR (ﬁ)
© aﬁﬁe,d:&ﬁtb)\ D)
(E)  iaia
v?{ wifererT oh o STT=E 3 AT (et <x1 hY ST 7
(A) =T 343 ®)
(C) 3T=2 234 (D)
(B) SAgdia ¥4

Given below are two statémments:
Statement (I) : A
Statement (II) : ‘KARYA™a
level only.

In light of the ab
(A) Both Statement (I)nd Statement (II) are correct.

Both Statement (I)-and Statement (IT) are incorrect.

B)

(C) Statement (I) is correct but Statement (II) is incorrect.
(D) Statement @) is in€orrect but Statement (I1) is correct.
(E)  Question not attempted

faqrem g H)

o - 1 : FAKARYA) e &

() 25

‘/ Which of the following artigles empowers the parliament to legislate on any matte%k enumerated in the state list in
'§)

national interest, if the resplution is passed by the Rajya Sabha with a 2/3 majority,.’of members present in the hot
)

Article 249 g
A

Article 360 -

- |

mgmmﬁmﬁwﬁaﬁw@ﬁmmmm”’%mgaqﬁmﬁﬁwém% T
S T H SR HEE S HGEH 2/3a§qa%mm%mﬁﬁ%|(ﬁwﬁﬁmmﬁiﬁ

T 249 44

HT=DE 360 Ty
o

TR YOI 0

gfirer -
Ty
Eas

aﬁlﬁb R ¢ »

Fadt a AR d

GL{AdT»

E

A DTt A

helel c, d 3T a M

T 243

I8 283 P

i

‘KARYA’lis a program of department of science and technologyi @overnment of Rajasthan
ims to provide short term research opportunities to students of basic sciences at graduate

ove statéments, choose the most appropriate answer from the options given below:
{9 :

1))

7]
D70

=

ﬁvm,wmmmqasm%u ~
s 3 T R ferRT o o e ey SR 1 e FA

m-n:w(KARYA)emaaaasaa ;
mm%mﬁﬁnﬁﬁaﬁﬁﬁﬁﬁﬁmwm?ﬁ: .
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1€
sel engme converts ene

18y fro
(A) cn o -(Ch
emical energy to mechamcale\ 00se the most appropriate option from below)
© Electric e nergy ( g .
® Nergy to sound energy B)  Chemical energy to clectric energy

Question not attempted s

e S5
Qﬁaﬁam

Nuclear energy to electric energy

ot ST ferepet o)
©) B?rﬁ;a;mgmm (B)  Hfirmer vt & sz i
(B) ommhaws o (D) ferei & gaife Feit

Read the passage and answeriquestions 38 to 41
All people have some R ;
stress in their lives. A little stress makes life interesting, and keeps you on your { toes.
However, too much stress can be unhealthy You may find your life becoming s’cressful whenever there are changes
in your environment, in YOUT I‘EIatlonshlps or in the demands you put on yourself
Stress can also be caused by good things in your life, such as getting a new job, moving to a new place, or
getting married.

How can you tell Wwhen your life is getting too “stressful”? You will probably find yourself always feeling
rushed, as though you must hurry everywhere you go. There is never enough tlme to do everyting that you need to do.
You may find yourself walking, talking, and eating more quickly than usual. ¢}

Besides causing émotional problems, stress can also cause real phySlCal problems. If you have too much stress
in your life, you may suffer from stomach problems, headaches or neck ‘and shoulder pain.

Prevention is the best way to deal with stress. First of all, be organized=. there is nothing so stressful as a
disorganized life. Put your life and your surroundings (your home, apartment OF desk at work or school) in order.
Don’t procrastinate. Stop putting things off. Do what needs to be done today On the other hand, don’t always feel
that you have to do everytmg right now. Learn to say “no” to activities “and commitments that will only add more
stress to your life. Remember that you are only human, and that you can only do_one thing at a time.

Learn to relax. Slrow down. Take a break or a walk when you feel yourself gettmg stressed Find a hobby that
you enjoy. Reading, hstenmg to music or creating something with your hands are all great ways to bring some peace
toa hectlc life. Learn to laugh at yourself and your life. Try to look on the brlght Slde of life. Even when things seem
pretty dark and stressful‘i }__}%ere is usually a place for some humor and a smile.

38— What may cause stress? (Choose the most appropriate option from below)
(A)  When you make changes in the demands you put on yourself. Py
(B) When you relax ai;id meditate.
(C) When you do nga;z &
(D) When you go on vagcatlon with friends. =
(E)  Question not attemgted

39~ How to tell if you are too'stressed out ? (Chdose the most appropriate
pprop option from, below)
(A) You feel full of ehe}gy and josh.

(B)  You run short of § nme to do all you need to do.

(C)  You have time to volunteer for many social work. F
(D) You are relaxed and take life easy.
(E)  Question not atte{ngted

A15] 3% i 9
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40~ What is one of the appropriate way to manage stress? (Choose the most appropriate optiop from below)

(A) Plan and organise your work.
(B) Rush all the activities you do.
(C) Take on many assignments together.
(D) Do everything by yourself and avoid delegation of work.
(E)  Question not attempted

/ Choose the most appropriate meaning of the idiom “to be on your toes” from the options below:
(A) Putting things off (B)  Look on the bright side
(C) Take a break (D)  be alert and ready for anything
(E)  Question not attempted

\52/ ‘Who was known as ¢ Frontier Gandhi’?
(A) Mahatma Gandhi (B)  Sardar Patel
(& Khan Abdul Gaffar Khan (D) Mohd. Rasooq

(E)  Question not attempted
e miefy & 1 B foRe ST e o

(A)  HETCHT T (B) EERYH
(C) WM 3Fogd THER TH (D) HIEEE EH
(B) SAgaia g

\43/ If CAT = 48, then MOUSE is equal to:
If& CAT = 48 21, I MOUSE 3 SR #9187
A 142 By 146
(C©) 148 D) 138
(E)  Question not attempted / Hﬂﬁﬁﬁ B

\}4/ Ranjan travelled 15 km northward, then turned right and travelled 10 km, then turned left and travelled 20 km, ther

turned left and travelled 10 km. How far was Ranjan from the starting point?
(A) 30km (B) 25km

(C) 35km (D) 45km

(E) Question not attempted

5 ST SR 15 Fope 7T, S S1G qTfe T qSH 10 Foret =T, SEeh oiTe areft 3R Hgat 20 foreft =, e, s

T gt 10 feptfl e =Iell o 3T SfRyeh foig & feheefl L 9 TE=m
" 30 el ®) 25T
Efcx)) 35 feRHt (D) 45 ot
(B) i 99
r : Y th in order from both the ends. How many girls are ther¢
i ds in a single line. One girl is nineteen
o A group of girls stan
in the class? ) bt 93%;[&@_&%'%&?%%6%?
T BT |
‘ o7 U T @1 81 AT
EIEICIEARERIES Lo
(A) 40 2
© 35
(BE) Question not aﬁempted / Eﬂﬂﬂf(ﬁ qq
10
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B)  Que (B) - The Beas
Ry Stlon:}? tattempted (D)  The Jhelum
Rk TR T .
(A) Hdorsy - 2] @W) ﬁq-?ﬁ%‘) LY
© = ®) =
/ (E) TR Sar, D) Fem 3
Where is the famous S =
ikh Shrine ‘Hemkund Sahily’ Ta
E‘éi Séllilwal Hlmalayas g loca;:;l)? s b= ’,1}’; .
ikkim Hlmalayas umaon Himalay:
() Question not attempted (R akar Hlm?{iyas
S frg g ¢ T e et R 2 )
(Aa) Wﬁmﬂa & s n
©) Tuferm %q‘l?rq - o
(E) Sﬂ?fﬁ‘d‘;r’ﬁ

A
(B) Desertsoils |
(D)  Types of Rajasthani painting forms

Sewan, Dhaman and Karad are
(A)  Types of folk dances
(€) Types of,gnasses

(E)  Question not attempted

RS S | Lt 3

(A) ?ﬁmw%m (B) TEEIAHA )

(©) w%m (D) mmﬁam(&%a)m%w
(E) Aguia S{a §

\49P The perimeter of a'rectangle is 90 m. If its length is twice its breadth, then 1ts algea is:
T ST 1 A0 m 2 2 gy e <o & T A, e deer 2 . ’
(A) 450 m® '*-':‘_—: : (B) 380 m’
(C) 460m® D) 420m’
(E) Questlon not attempted / BFRTF(H e £
\5( The average monthly income of ‘A’ and ‘B’ is ¥ 6,000, that of ‘B’ and ‘C” is ? i500 and that of ‘A’ and ‘C’ is ¥ 5250.
What is ‘A’’s mOn*hly income?
Aaﬂtsaﬁaﬁwmmﬂooo% Bqaca?raﬁwnmmzs,sopaﬁtAaﬁxcaﬁaﬁmmﬁmm
252508, ﬁAaﬁmﬁmmwarﬁv

s p"}

J L.
A) 6,250 tJ (B) 6,450 19
(© 5750 14 (D) 6,200 =
)  Question, not attempted / STFTNT T4
‘y/f‘:; borrows a sum of % 2000 from his friend ‘B’ on 31 December 2011 on the ¢ondition that he will return the same
after one year with simple interest at 8% per annum. However ‘A’ gets 1nto'é}051t10n of returning the money on 1
July 2012. How!much interest amount he has to pay to ‘B*? (™

A 3 o B & SUIGHER 2011 %1% 2000 34T < & TSt a1t @ 5 o1 wep o e 804, e et s & 5 A

ST T T AHT A IHTRTHT 1 TS 2012 i ATHH K T 3| mﬁBfﬁawmémq@W
(A) T80 (o) By T90 )

(C) %100 %“f D) <120 L)
(B) Questiongﬁgt attempted / <IN 94
‘{" N

Al15] R ' 1
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5y e Pt s ST b

SR
(% BSL3IES
e. Jeg& ;e
15 g 1 et £ i 99 I G Gl e
T () Fb, ¢ 3 g
(©) a, b3fitc
(E) g = :
5 ﬁmﬁ@‘m’wwﬁwww?ﬁ'
A) I B)  fom
EC) e @ wm
(E) rguiaws 9
R f e, e, <q, <d, A gt G 2, Tt B e farg s i e
(A) amﬁmrr (B)  uffermy
© s D)  verfrs
(E) IrgaRa vy
A5 e o

TAT -1 : T 7T T qU R
HUT-11 : ‘é’a?rmmwma@%l"

Eﬁmwﬁ%mﬁﬁ%ﬁmﬁ%wﬁwm

(®)
(D)

A e 1 3R 11 3 e
© T8, fheg oot 11 omer 1
(B) sguRdyy

L;G/ Which of the following are two cash crops of Rajasthan?

8 12

AlS ]

Wﬁlﬁ

1 3R 11 3T 371 8]
P ITHAR, o o [T wer )

(A)  Cotton and Tobacco (B)  Wheat and Rice
(C)  Bajraand Coriander (D)  Barley and oil seeds
(E)  Question not attempted
Ffafes & & #ir ot TSTET 6T 3t Tehelt et 29
(A) T 3R aeh B) R =T
(C) TSI 31t arfay (D) St AR fyeTeT
E)  omafa gy
_ \S//fndira Gandhi Canal ends in which of the following districts of Rajasthan?
(A)  Jodhpur (B)  Jaisalmer
(©)  Bharatpur (D)  Udaipur
(E)  Question not attempted v
éﬁnvﬁﬂmﬁqﬁr@aﬁﬁm%m&ﬁﬁmm%
A  SiEgR (B) SHEHT
(©) AR (D) 33X
(B)  3Igaia e
\5/ Which city is known as ‘Food Basket of Rajasthan’?
(A) Alwar (B)  Sri Ganganagar
(C) Bikaner (D) Ajmer
(E)  Question not attempted
ToRE ST T TSTEAT ohT el T T & ST 77 2
(A) T B) TR
© s D) I
(E) aﬂﬁﬁ?{ 99 [ p.L. 0




ol o from the opj
by e Pt g8V bl
1 s Ctwas based op the Mountgg, an Independence Act on July 05, 1947.
d. Th: 201 gotroyal assen o August 1;“ 1P914r71
oo il Ctwas implementeq on Augyst {5 1947
AL ab and 'DPropriate answyey from the Options’ iven bel
& a, ¢ only given below
> ¢ and d only (B) a,bandd only
(E)  Question not attempted (D) b, canddonly
ﬁﬁ?mﬁaﬁﬁﬁ%wwqﬁ:
§ iﬁwm%‘ 05 SIS, 1947 =1 Wi e sefrfers e e
it Wéaﬁmwmmml -
o AR 10 3R, 1947 % rer ey o o
d. st (ue) 15 ST, 1947 %) e o fear o
A fow e foreredt 3 & et sugs s,
(&)  Feta,b3iRe T ®) Facta,bid
(C) a’ﬁaa,caﬁ(d (D) éﬁab’cﬁtd
. (B) gui@ux

Who declared “the status of women should also be raised and women should be trained to take a larger and more

. . . . ! : S
intelligent interest in public affairs” at the Maharashtra Provincial Conference in May, 19287
(A) Mahatma Gandhi (B) J.L.Nehru

(©)  Subhash Chandra Bose (D) Bhagat Singh
(E)  Question not attempted

e SR e 8-1928 3 ey o oy R 7 R o S T R A AR A1 ST ST
e ST St T & S o 35 e e e s e ?
(A) wETeHT I @ A
(©) TINITXTH (D) W
(B) Agdia s
What will come in place of ‘2’
<9> 3 TAT UL hid €T FHeh SATTT?
9
((32’)45’1362,21’- (BT
<« 14 o) 11
(E)  Question not attempted / ?ﬁiﬁﬁﬁ 94

/

What will come in place of <7’
<9 2, T YL A1 ST

4 O

o

b
Q—
-~ [O-O

(A) —O— B)

© (5 (D)

(E)  Question not attempted / 3TN 5

as] e 13

%
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hown below:
6 Some symbols are represented by letters as s
\/wmﬁa@mmw%w&ﬁﬁ@mw%

L= =S| <
B|G|E|C|D|A|F 1

Which of the fllowing expression is most appropriate?

e 3 & I AT SUg e 87
(A) 15C15B8F4B6C2 (B) 15B5G 8B4G 6F 3
(C) 15CSF8C4B6C3 (D)  15A SE 8C.4B 6E 3
(E)  Question not attempted / :m?rfta 99 |

64,/ Which of the following statements is not correct about the Gondwana Coal?

(A)  The Gondwana coal belong to the carboniferous period.

B) Itis found in Damodar, Mahanadi, Godavari and Narmada valley. ,

(C) Itis mamly peat and lignite type of coal. !

(D) Ramganj, Jharia, Tata Pani and Himgiri are some of the important coal mines of Gondwana formation.
(E) Quesnon not attempted o=y

TSI 1t o SR § 7 § | S |1 o et 72 22 ol

(A) TSI HRIAT FHT 5 HIet & Heiferd 2l P

(B)  TeaTHIay, Ferd, Maret it e st i wre s 21
(C) 7= TEHd: Wi 3 RTeTge b T Hie 2

(D) myﬁmmaﬁtﬁwﬁﬂ ﬁ@mmﬁwmaﬁwwﬁ%

{

(B) Fgaitaua v
‘ Kattha is extracted from the inner wood of which tree?

(A) Kul treef (B) Kusum tree-

(C)  Khair trée (D)  Mulberry tree

(E)  Question not attempted >

W#%Hﬂﬁmm%mﬁmmm% =1

(A FaFE| (B) FTEIUSx L}
© WIz (D) IEEIC» ¢

)  AIERa
6 Take the given two statements to be true even if they seem to be at variance: from commonly known facts, then decide

which conclusion would follow on the basis of given statements?
Statements I : No Apple is Banana.
_Some Bananas are grapes.
Conclusion II : I. No Apple are grapes.
“IL All Apples are grapes is a possibility.

In light of the above statements, choose the most appropriate answer from tlfe options given below:
(A)  Only conclusion I follows. (B) = Only conclision T1 follows.
(C) Both conclusion I and II follow. (D) Neither I nor I follows.
(E)  Question not attempted
FTThT T T Y YT T A AT 2, 51 & 3w STa @21 8 T Sda 19 81, A9 I a e & i e A
T o T ol o ATfeheh 9 & STETT Bl &7 i)
wUTL: L A, e T 2 % & -

% hel, SR &l [
ot 11 : 1. 708 off 4, S )
mm% Wﬁﬁw%%ﬁﬁmﬁ@mﬁéa;mwaﬁ Ty

-

Sraret e 1 ST et 21 (B) et R L ST e 31
22)) aﬁﬁ%&lgﬁ(nm'ﬂ%%‘ (D) qa’rleﬁrn"rnmw%;
YL S [P.T.O.
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6,
\/ Anoop told Mypp,

a~ “ o
defeat? Yestcrday, I defeateg the only brothe ecor oy srandmother”. Whom did Anoop
(A) Brother Other of the daughte g
©)  Son (B)  Father
(E)

Question not attempted

(D)  Cousin
Wﬁw %W, el

Y oy % 350 SHH
A) aﬁﬁﬁ*mﬁ%ﬁmﬁmwﬁﬁ '
© T e 0
(E) - o (D) “ﬂ%ﬁmﬁéﬁ
\98/1 Which one among the following is o “Fossil Park™
Akal Wood A
Keoladeo Ghana
(©)  Sariska & antor

(D) Ranthambhore
(E)  Question not attempted

Forerfirfan & & e shamm %
(&) sEETE ‘ i Nty
©) =iw=m

(D) TR
(B) rafayy

i i i jasthan?
J/ Which of the following statements is not corgect about Sahariya tribe of Raj

de

7

Rl

Al5 ]

T.0-

d to Shahabad and Kishanganj tehsils of
(A)

The habitat of Sahariya is South-Eastern Rajasthan, that too limite
Baran districtA
(B) They have “gotra” like Chauhan, Dodia etc.

The chief of the tribe is called Tapara. ) o
E(];)) They worship several Gods and Goddesses, but their main god is “Behru Shaan

uestion not attempted ) :
%ﬁéﬁ?—mmmﬁmmﬁ%aﬁﬁﬁﬁ? b el
2 afgae s A e <h TS ferTiSt .

(A)  wfE o e afeur-uet T ]
®B) =Y <ieH, s s S i B B
© wmﬁ%gmﬁmﬁwi% g 2
(D) 3 e TS o O o & e T
(B) g ¥

ate: I 2 i 1 i ‘ty @ S 11).
A i /UT of India in descendinb order accor dmg to their populatlon densi ( ensus 20 )
rrange the following States . T :
(o Delh1 : )
i N
mé? 3":'-‘ %| igil (5125 shH

rafeerd il

> b. afep sime

a‘ et d. foew

5 . . S
Choose the most appropriate answer from the options given below: 5

0 -
ey few T fereRe # & gatfirs 3ugw I -
(B) ¢, dba p
d,c,b

i d,b (@) adb,ec
© cad .
(E)  Question not attempted / ST " : -




tatements:
1 Given below are two S ‘ .
\)/ Alluvial soils contain an adequate amount of Potassjum, ST

Statement (I) :
for growth of sugarcanc,

Statement (IT) : This soil cont
In light of the above statements, ch00s€ the most appropriate answer from the SEiah Bl

(A)_ ) Both Statement (1) and Statement (II) are correct.

(B) - Both Statement (I) and Statement (IT) are incorrect.
(C)..» Statement (T) is correct but Statement (II) is .chrrect,
(D)~ Statement (I) is incorrect but Statement (II) is correct.

1me, which are i
paddy, wheat and other cereal and pulse crops, Ie idea]

ains enough quantity of Nitrogen.

(E)L ! Question not attempted

el e RU MU E:

o (1) : ST Frg AT A H e, THIERITR WIS ST S 9T ST 2, S 771, o1, T 3R 371 ST 3t ey
R RIIC A CE AN

HAA (I0) Wﬁ@ﬁmwﬁq@@mwm%

St et 3 STei . 1) e e et 3 § water Iugw S|

(A" 3o (1) STFe (I1) 3 Eel (B) I (I) I H (IT) ST Tt &)
()~ e (1) Tt & SHfeF ke (1) Terd &l (D) (L) T B Afh e (II) Het 2
(B) ! ST o5
T
[ \/72/ Amiong the following places in Rajasthan, where is the Pichola lake situated ?
1 A" Udaipur (B) Ajmer
(C)." | Bhilwara (D) Karauli

(E)* | Question not attempted

foriter (fretem) sia, W%ﬁqﬁﬁﬁaﬁﬁﬁ%&rwﬁqﬁ‘raﬁﬁév

(A) SR (B) W
(C)~ sfrmarer (D) e
(E) . st s .
\}/ ' Y
7 Which statements regarding Kuchamani Khayal are correct?
a. Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.
b Chand Nilgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
c. Kuchamani Khayal is not performed in an open theatre.
d

In this Khayal, players of Dhol, Sarangi, Clarinet ahd Dholak are the main accompanists.
Choose the most appropriate answer from the options given below
(A)_; b, c and d only ; B) a,c and d only
(C) ¢ a, b, and c only (D) a, b and d only
(E),| Question not attempted &
e e 35 T T80 e e e —
a. TV AT i S et Trest U FR IS fohEr T ol - 74
b. e AR, T Rewer i i Het, et T i g Yqe T 3
. mﬁm@wmwm)ﬁﬁmﬁaﬁﬁmw%l
9 wmﬁ@awﬁmaﬁrmmu@wﬁfﬁﬁﬁél
fr ﬁ,-q g ke § © Aatd ITgH I T

(A) . Fb, ¢ d» (B) Faca,c3fd
©F Facia, b3 e (D) Fa, b3 d
€) " IPIRIIH

P.I.O-




Bhartrhari fair

(B)  Pushkar fair

) i
, Khalkani Mata Donkey fair
(D)  Digei Kalyan 47

3)  Question not attempted

W:ﬂﬁmﬁéﬁf—ﬂﬁ e

A) R
(©) sl S #en (B) TR
(B)  atea v | (D) ey T ST AT
Choose the most g, .
appropriate antonym of the word * i 2
e Ancient” from below -
(A) Insult '
(B) Rough
(D) Modern ’ ' ‘

(C) Destroy

(E) Question'not attempted
- ions below:
For the sentence given, choose the most appropriate ansWer in reported speech fro o2

Ravi said, “My mother is going to her home town.”
(A) Ravi said that his mother will go to her home town.
B) Ravi said. thét his mother has gone to her home towD-

(g) Ravi saidithat his mother was going to her home town-
(D) Ravi said' that his mother had gone to her home town-
E) Question 4pot attempted
7/'/ In 1859, Relief of Lucknow’ painting Was painted by :
(A) Thomas Jones Barker (B) Campbell
() Oubam J @) Havelock
(E) Question ndt attempted P
Fepaes 2 1859 3, frei® S S A (painting)am?ﬂmﬂﬁﬂ? LA
(A) oo ST S ® FE =
(©) SEd (D) T °
®) SRR o -
i Lil \
\-Lg/ The University ‘Education Commission Was$ set-up in the year under' the Chairmanship of Dr. S \
© Radhakrishnat : : i
<, TE. aﬁmmﬁﬁgﬁamﬁrmmﬂ @mﬁ?@aﬁﬁ@ »
gy CE ¢ ®) 1948 )
© 191 i (D) 1953
(B) Question .m.)ht attempted / 3133‘1)@ T4 '
17 [ p.1.0-
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\y Given below are two statements:
Statement (I) : Most of the rulers of the princely states after Independence of Indiasy

Assembly.
Statement (II) : This response of rulers of the princely States meant that afy

possibility that India would get further divided into a number of smal] countrj

In light of the above statements, choose the most appropriate answer from the o

&0l
. %
I'€ averse tq Join the Constin

ter mdependence there wag

a
ies. iy

ptions given below:

(A) Both Statement (I) and Statement (II) are correct,

(B)  Both Statement (I) and Statement (IT) are incorrect.
(C)  Statement (I) is correct but Statement (I) is incorrect.
(D) Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

e g1 eher few e 2

AT (D) : Wﬁw%mmﬁ%ﬁmmwﬁm%ﬁwap
A (I0) : mmﬁwmmmm%m%m@a@wﬁﬁmﬁﬁﬁﬁﬁw
IHITH Bl b STt , i QT forched 3 & ware 3uges s g

(A) A (1) A H (1) ST T &)
(©) = (I) WEl & Tifehd e (I1) TTeia =1

(B) U (I) aﬁrw:r(n)aﬁﬁnaa%]
(D) e (1) TTeTd & AfH e (1) Tt 2

Which of the following districts of Rajasthan is famous for the highest production of wheat in year 2022-23

(B) rgaia s
the state ?

(A)  Sri Ganganagar
(C) Bundi

(B)  Question not attempted

(B)  Jaisalmer
(D) Kota

ST o 07 § & S e o 2022-23 ﬁwﬁﬁiﬁsaﬁﬁmm%mm%?

A) TR
© s
(B) g 5=

(B) SHTHR
(D) I

\8;1/ Which among the following is not an Agro based Industry in the state of Rajasthan?

(A) Dal Mills

% Iron and Steel Industry
(E)  Question not attempted

(B) Rice Mills
(D)  Cotton Industry 8

TSTEH T H frrefeafaa # & i @ ueh iy strenfa sei 72t 22

(A) T
(C) e 3R 37T 3anT
(E) Agaid 94

\8/4 Which of the following is not a web browser?
(A) Mozilla Firefox

(C) Opera

(E)  Question not attempted
freAfAfad # & ShIH-8T S 1SS et 22
(A) ST FRAHE

(C) SuT

(B)  AaRa S

A15]

(B) =mad e
(D)  HUTE T
(B)  Safari

@r Gmail 36

(B) EHRI
(D) S

18




i W =
hich of the following stat

* TheCagj CRENS s ot 1y With
b. The CA 1S appoiteq by the Presig
S
c G can be removed g ide
A The salary an N the reg
d.

dia?
S Bl Comptroller and Auditor General of Indi2
nt oflndia_

£
Choose the most apprapriatezAG ' fixed for ive years
ns . j
([(\3) d,canddonly Wer from the OPUONS given helow
© b, canddony 1A L]
() Question not attemnpted S
ﬁ%aﬁqgm W%ﬁﬁﬁaﬁt%ﬁ@wﬁm%aﬁﬁ?ﬁ%‘?
a %W(CAG)ﬁmw%ugqﬁ%mm
. A - I fehaT STt 2
- TS 5 S T34 (CAG) -z sy Teverr 31 -
Z %q@AG).maaq S ST T e Fafer & oy o 31
. (CAG) 1 w1t 5 911 3 forw fifara wmar 21
= R e wHiferes Iuge: s .
(A) Faeta,caftd (B ¥awa b3
(C) FaeAb,c3id (D) Feabafd
(B) SAgaRawy

N/\Nhi‘:h of the following provisions of the Indian Constitution deals with the ap!

et 2('24-25 the fisca (1CI t esmnated to remain
er t! 3 1c1t 18 “
’\8/ AS P he BUdg e

of Ministers? A ;
(A) Article 70 ®B) Am.cle ';5
(C) Article 74 (D) Article
(E)  Question not attempted ‘
Frriferfad i & ST S 1 HA E S uﬁqﬁq{iﬁ%ﬁﬁﬁf i

=35 70 S =
((2 a7 @ TR
() FIHawA

po'mtment_, and dismissal of

e

e

a8y

(5 # yi () anks 1S g .
Th rate at W] llCIl CndS money to o cla :
R nk fIndxa n mmer 1b nk Caued
eserve B al 0 £

Reverse Repo Rate ot

i o, EBD)) Repo Rate
((g; zl:xI:stion not atfempted - = s
maﬁmﬁﬁi - (B) ;{ﬂ;ﬁ:ﬁt
P o

@ FIATA

: 2
SoiE 2024-25 aﬁaﬁw%mmﬂﬁﬂma&

58% ']
Question not attempted / ST T

*

19

()
D)

5.5%
4.9%

of GDP'in 2024-25.
L @ e

the Council

[P.T.O-
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o

Al5 ]

In which year the Indian Government launched the New Economic Policy of India? (GHonssins .
b OSt g

Ppropr;,

i m below
;i;";:.r{ef m;ﬁﬁwaﬁmaﬂ%ﬁﬁrww%m? (ﬁqﬁﬁmaﬂ;ﬁﬁmﬁ)
(A) 1992 (l?) 1991 g}
(@) SRR ; (D) 1993
(E) Quesrtion not attempted / &ﬂﬁﬁﬁ BE

Who from the following has the primary responsibility of distribution of the food B Arigidian
(A) Bureau of Indian Standards 021 RSt Vi

(C)  Food Safety and Standard Authority of India (D)  Employee’s State i

(E)  Question not attempted

TR # Feferfad o & @re o fSaeor st g et fredh &

(A) A Hh GEIH (B) v @ oy
(Q T ey TR 37 A STerehor (D)  FH=TRE 7 O sty
(BE) Ifgafa s

Which country’s armed forces were awarded the coveted ‘Golden Owl’ award for their outstanding performang j
Dec 2023? (Choose the most appropriate option from below)

(A)’ India (B)  China

(C)  SriLanka (D)  Singapore

(E)  Question not attempted

o <1 3 wrerer st 9 foia 2023 & S I VaxT B 3% e smeer T € gEfsad e &2 (e A d
S e <)

GV ®) ==

(©) e (D) femgE N
(E)  Agufa s

Who was appointed as the first woman Chief Justice of Uttarakhand High Court?

(A), Ruma Pal (B) Ritu Bahri

(C) Hima Kohli (D)  Indira Banarjee

(E)  Question not attempted

m@gmwﬁﬁaﬁqﬁmg@w f?wéﬁg?s%mw%v

(A) FHIUS (B) Rgemh
(C) femmarEct (D) It :
(B)  SIgaiaws ot
Which one of the following is not the mode of Social media?
(A) Facebook (B)  Twitter
«ey~ Broadband (D)  Blogging

(E)  Question not attempted

freferea & & 1 1 AT whfea s arem (qe) T 22

(A) HETH B) faE=
fTes SATT

() sisss D)

(E) S &

AlSs

8 20 [ P.1!




| &4
9
Who of the follo

-
(A) Kalpang INg Space travelle
© g Chawly IS born i Wi - A -
® tu Karidhg) ied in space shuttle of Columbid during its returning?
Frr §uesno.n 1Ot attempteq (®B)  Sunita Williams
“ NS E S (D)  Sirisha Bandla
Sl a'la?ﬂ’ A off Ry !
© g Hhee W%Wﬁa‘%m%mﬁ?ﬂmﬁﬂﬁ“ﬁw
E) o ®) AR
E) i@y U .
\9/ (D) fofmmsiEe
Which of th g
o : e following are not oA Biyirer X
) RajBOT 1ficial Intelligence (AI) related projects initiated bY the Rajasthan Government?
& U (B) Revenue Intelligence® & Apalytics
(E)  Question not attempted (D) Audio Analytics
el § 4 S < S
A) T R 21 o 7 srféfefe R agggﬁﬁ‘“
nce i
i © zwia @ T
(E) ﬁﬁﬁ‘d sy (D)
P9}/4 For the word given in Hindi, choose the most appropriate word in English from the options below:
BRSER]
(A) tenable ®) acceptable
(C)  unacceptable ) untenable

(E)  Question not attempted

vg From which generation of computer the use of Integrated Circuits IC) started? ‘
(A) First Generation (B) Second Generation
(C) Third Generation ®)

E) Question not attempted
Mﬁaﬂwﬁqﬁaﬁ@rgaﬁi@aﬁ (aﬂ‘a‘.tﬂ.)ﬂm‘g@gm%?

Fourth Generation

(A) aeett det B) |l e
© ey f1 ®) <eft fiet
45)) Faa T
\/ f wires which carries a group of bits simultaneously, that is, in para\lel, and has an associated control scheme
6 A seto wire:
» known‘ -y (B) data cables
S
G ‘;me D) Registers
@ e

estion not attempted

ﬁ@%@mﬁam%,wmﬁ,ﬁn@ﬁmmm%w




V

The name of the first Indian Satellite is :

B .
(A) Bhaskar-1 (B)  Insat-g

(D) Kalpana

(Or Aryabhatt
‘(E) Question not attempted
I T 3T AT
(A)  HERL-I “ ‘ (B) =Wl
(©) AT (D) e
(E) ﬁgﬂﬁﬁﬁ?}
(o ‘
Which part of the,.ie}ephone device accepts voice and sends that information in the form of electromagnetie -~
(49~ Receiver LI} (B) Cable » -
(C) Dialer 4 (D)  Mouth Piecé7

(E)  Question not attempted

é?ﬁqﬁqsmwmagammm%@ﬁ Waﬁ@ﬁ?ﬁm%ﬁrmmaﬁﬁmﬂmﬁamﬁ%wﬁ AT
EEr

(A) =R Ly (B) k
(©) =SEer D) Ty dg | b
(E)  rgaiawg~ r

(o :

In Olympic 2024 “Indla was at spot in the medals tally?
@ 1 M) ®) 71
© 3w @) o1x
(E)  Question not attempted

HIHIE 2024 T IR Taeh qrfers I WD

'l

A) 179 m ®) 713
© 373 D) 91§
®  ukavgy :
&l
ﬁ Which state hostéd Outlook Planet Sustainability Summit and Awards-2024?
(4)  Rajasthan (B)  Maharashtra’}
(©  Goa (D)  Tamil Nadu- |
(E)  Question notattempted ¢
mmﬁwﬁﬁz@wm@m 20245ﬁﬁ3|317-ﬁ€ﬁ?i : J
(A) TSEE ) (B) HERTSE ):
© M S (O) dfrerrg
(E)  3IFaid 9. B
\n/ ‘Deputation’ WW fet AN Y1eg 21T A
(4)  shafgRe ® e H
(©) R g ®) feaved o i
(E) HFaRass . L '
frerffad & & o arr ST oy 3 gl
‘/0/ (A) aEH am‘r&?ﬂ 2l B WWW?,
(© T R =Ll Al
T
(E) AR Ty 2 i [ P.T.0

Al5]
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Oves?

g ST 5y (B)
P D) v & werars
/ Bt ot et oy S

% w2

a “ﬁ? T Efey 29
C o
= (S i:‘::“ b HeaT Ha ;f‘:'
(@ﬁgr;ja T i e s
© a R b I I
) 3qqﬁ.ﬁd3ﬁte (B) shaelc3dTd
% i el (D) SHadedN a

(A) U 1 3 11 3R e 3
© FHT LA R, o o 11 v |

(E) omafays ®

}9% HHEHS o1 qore fare 2
(A) AHfETEET ®) omEEeT
(© e Hggen (D) G & AT
(B)  Tgaia 9=

y Which of the following is NOT a large scale Industry in India? (Choose the most appropriate option from below)
(A) Jute Industry (B) Khadi and Village Industry

(C)  Iron and Steel Industry (D)  Cotton Textile Industry

(E)  Question not attempted . :
Frfrfiad o & Fi-aT 9 # ged 2407 el et 22 (ﬁwﬁﬁmwﬁwgﬁ)

ot B shomE -
(©) e 7R T ST - (D) v -
(E) HAITRATH

1 The first Vice Chairman of NITTAYOG was . .
(A) Narendra Modi (B) AmnJailey
©) Nandan Nilekani (D) Arvind Panagariya
(E) Question not attempted
~fyfRy STRINT o STIH ST 1 42
(o Sl (B) e
OB T (D) s
() I

w/ In which of the following budget year, the Railway Budget was merged with the Union Budget?
9 e aTore a9 & X BT e §e oh S W It fopan T 2

A) 2015-16 (B) 2016-17
(©) 2017-18 (D) 2018-19
(E)  Question not attempted / 311?113{3 B

Al15] %€ 23 [P.
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Al5]

replace the underlined words, choosing the most suitable idiom from the options beloy
In the sentence given,

He was arrested without being given a reason.
(A) overand above

(C) atodds and ends

(E)  Question notattempted ‘
For the given sentence, choose the rmost appropriate answer from the options below:

The language and style of a formal letter is-

(A) lengthy
(C) very fnendly
(E)  Question not attempted

(B)  for no rhyme or reason
(D) outand out. .

: (B) chaty
| (D)  polite and brief

ﬁw%ﬁaaﬁﬁ:rmwﬁ%sﬁ%?

(A) faghr , B) TEH
(C) wE= “9 D) e
(E) orguRayy
ﬁw%@a&@ﬁaﬁww@mwﬁa@%ﬁﬁ

(A) == - | ' (B.) Rkl
(©)  Hiar et (D) R’
(E) amrf’{asrar o

Complete the sentence by choosing the most suitable article from the options glven below:

Please get me __ umbrella when I go out shopping as the monsoons are approaching.

(A) the o B a y

(C) No Article L’[ T (D) an §

(E)  Question not ajtempted o

Complete the senteﬁee by choosing the most appropriate preposmon from the options given below:
I reached the schooj the gates closed. ,

(A) later .,\_‘_wg (B) before
(©) by LY (D) from
(E)  Question not.attempted

Match List-I with List-II-

List—I (Words) List-IT (Synonyms)
a geneg?qs I esteem
b honour. II.  ridiculous « & 2
c absuxid" T III.  achieve |
d. accomp,hsh IV.  charitable ¢
Choose the most appr’oprzate answer from the options given below: e
A) aIbIIqFJIIdIV (B) aIIIbIVcIdII"
(C) a-1V,b- Ic:{]IId I (D) a-ILb-Ilek IV, d-1I
(E)  Question not attempted
Who amongst the followmg Indians has been recently selected for the ‘Gol&man Environmental Prize 2024° 4
(A) Ramesh Agrawal (B) Alok Shukla 5
(C)  Tulsi Gowda-. (D) Rajendra Siﬁgh

(E)  Question not aftempted

BTt g o & foh IRt 7 e wafol qateRer qrepr 2024° %@m%‘ﬁ '

THIT AT HATAT [T |
(A) L6y (B) 4
(C) gaErTer (D) W RE o .
(B) SR [p,Tﬂ'k ]
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),1( Whlch of the followin

g 1S th

Thanjayyr © Starting ;¢ Of the R, S

((g Arichal Munaj . o II\I:idlcflio i
Gl : adurai

ﬁ 10n nqt attempted - (D) Shivaganga
@) gl Wﬂh T T SRfe fifg 2
(©) Nﬁaa o ? (B)  wa
E) St vy ) D)

Which Union Ministry launched the

most appropriate option from below

! 2 (Choose the
SSwachh Sarvekshan 2023’ - Mera Shahar, Meri Pehchan survey? (

)
(A)  Minist
P errllllsst:’yy (())ff:ll;l/[osul\slll}r;g and Urban Affairs (MoHUA)
(©)  Ministry of Jal Shakti ,
(D) - Ministry of Tourism ! Srepre
(E) Question not attem : k2
pted & 1o (B & E ST -
Forer wmerer 3 e wrdeor 2023 - Ao e iy e 4 wEOT S 3 T
(A) A R IR w e ®B) E‘;;gq—:;q
(©) S i Wee b4 )
(E) 31:1?{133 SE Rajasthan fromtheyear __————
1 al
\l}/ Pradhan Mantri Krishi Smchauyee Yojana (PMKSY) was lmplemer;:fdf;%meﬁ et
i i I
Wﬁmﬁmﬁ%ﬁﬁm‘(“ THHT) B 201718
@F 2015-16 1§ Zh
5 5 (D) 2020'
(C)  2019-20-
E) Question not attempted/ mwg hich of the following cities i
ted at which ©
u/ Rajasthan Agricultural Research Institute is situate Eh daip“; .
M o dhpur = (D) Mount .
(GF alpur ek §
ted.
(E) Quesnon not attemp 7 o forer 8T 7 feor 82
T i e Fer o
(C) AL

Ramganj Mandl also known as coriander city, i
am

A)

‘nolcities of Rajasthan?
s situated near which of the following .cmes

B) Udaipur
Jodhpur

@V/ Kota -
Sriganganagart | !
((E; Question not attempted ) a . - e .
e i, eyfere et o T ﬁqi%rﬁaﬂ(m me Tt
AT ®)
A) 1 .
r ((C) ik o
| ; . o High Court located?
f\\?/\ﬁyhere is the principal seat of Bajasthan ig e
1 ») Barmer ‘ o e
Kota
2 Qzestlon not attempted jo %‘7
i?@ﬂ ey T A (E-:ﬁwa Hie) o
©)
(B) FIEATE

Al5]
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12 i issi f Rajasthan during 20232
the State Election Commissioner o ?
N (B) Inderjit Khanna

A) NR. Bhasin
(©) Madukar Gupta
(E) Question not attempted

(D) Amar Singh Rathor

aézozﬁnaww%uwajmmﬁ?ﬁ? .

A) T 3R, T (B) gasﬁﬁ@:n
© TR @) SERETER
(B) ¥RRa S

j The Khilafat movement was led by -
Abdul Gaffar Khan (B) ~Mohammad Ali and Shaukat Ali

(A) Mahatma Gandhi and Khan
(© Bal Gangadhar Tilak and Vipin Chandra Pal (D) ~ Maharaja Hari Singh and Shaukat Ali

(E) Question not attempted
e ST BT Y fehereh ZIT fehal T T2

(A) TR T ST W g THERR W (B) WrEwHE 3cft S Titehd Tl
(©) TR o S Efe == e (D)  weweT B i 3R it et
(B) AgaRd I=
1 The famous speech addressed by the first Prime Minister of India Jawaharlal Nehru at the hour of midinght on 14-15
August 1947, is known as: (Choose the most appropriate option from below)
(A) Wings of Challenges (B), Independent India
(C)  Tryst with Destiny (D) Hope for the better future

(E)  Question not attempted
T 35 S ST H SETE STt el 5 6 1947 % 14-15 ST T A <Ry R T S TS R R A A

ST 22 (R & el I foehed )
(a) famE 3 SeE ®) Iheiesfen
© Retrfeh (D) B9 ST A R

91/

(B) guNd 94
A

\127/ In the fourth phase of integration of Rajasthan, which four princely states merged into Greater Rajasthan?
(& Kota, Tonk , Bundi, Jhalawar (B)  Pratapgarh, Dungarpur, Kishangarh, Shahpura
(C)  Alwar, Bharatpur, Dholpur, Karauli (D) Jaipur, Jodhpur, Bikaner, Jaisalmer
(E)  Question not attempted

TR 35 TR 35 =9 =0T i fobet =T FeeTTerelt ohi sfet TS & fererar gem?

(A) e, 2T, S, IS (B) SIS, SR, foherTe, SMEqa

(C) AT, A, A, et (D) SR, SR, ST, SHAH

(B) IuRd 94 ﬁ{
1 When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional government of free India ¥

Singapore?

(A) 215t October 1943 (B) 22 October 1943

© 23rd October 1943 (D) 24" October 1943

(E) Question not attempted

wgmwm%mﬁmmﬁm@m)mﬁmaﬁmmmmﬁw

(A) 21 SRR 1943 (B) 22 T 1943

(C) 23 37&{3( 1943 (D) 24 318231( 1943 ; Al
ST 4

(E) I} [ P.T-o‘

Al5] % 26
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Al5]

1.0

\}/ Where ; 1S the archagg],

Vallabhnagal

Ogica] Site ¢
Uq fis C1v1llzatlon of
alpur ! Balathal situated?

©
(C) Hanumap, garh
(E) Question p, t B) " Mount Abu, Sirohi
< Eae O attempted (D) i

T Wiey I

C AS)
(E) 2 : i (B) e a1, falE
® s IEN
In which year pr;

ithivi Raj 111 defi
(A) 1181 A D. 2 ¢'fated Chande] Ruler of Mahoba?
©  1191AD :"“ (B) 1182 AD.
(E)  Question not attempted.” (D) 1192AD.
forer o 3%
R IR Inﬁnﬁmﬁﬁmaéaﬁmw

(A) 1181 % P

C ®) 1182% 4
© 1191% ) 1192% ,,‘
(BE)  orgafawy J

‘Saheliyon ki Bari” a popular tourlst destination in Udaipur was built by /’m
(A) Maharana Shambhu Singh-I (B) Maharana Sangram SINg

h
(C) Maharaja Surajmal ™ (D) Maharaja Udai Sing

(E)  Question not attempted--- '
IR T Teh Tfrg ek e fa%%a‘rzﬁa@’ Fopeeh T ST T AT |

(A)  HEOT 37 fe-T 1 B®)- Wmﬁ? -0
(C)  HEWIST TS ’ (D) RIS e
(B) igaiass

o mourn the death of which ruler?
(B) Maharaja Jagat Singh
Maharaja Jaideep Singh

‘Rane Jagpat Ra Marasya’ wasfvyrittent
(A) Maharaja Janak Singh §

©) Maharaja Jeevan Singh?_ (D)
(E) Questionnot attempted:

; ® |
o ST mmwﬁmwmwﬁ%m%@mﬁ .
(:h qg;TaTmfﬁ% LB (B)s HERST ST e oy

I= i (D) HRWIST SEeY e

©) iR ,5‘

(E) m&au&r ¢
t the following famous artists, has represented Rajasthan in the Bharat Utsav in ‘Bahrupia Kalad
s

Who, a;z;“i - (B)  Janki Lal Bhand

EC)) N ST I (D) Jai Singh Rathore

(E) Question not attempted

Wﬁﬁ%«qﬁ@mﬁwmﬁ ST HeAT” H TSI o Wi ferest o

(A) TR U EBD)) :‘:‘2:%:@
(B) A

g 2




\94/ Match List-

a0 oe

I with List-II

List-I (Chhatri)

Chhatri of Sawai Jai Singh
Chhatri of Musi Ran1
Chhatri of Gopal Singh
Sethon ki Chhatri

eft-1 2 @y -1 1 Fre oS

a
b
C:
d

-1 (T .

e e fie o gl - /e

T} T P B e
Tt g s Sl
{31 Bt

IL.
II1.
IV.

Ik
II.
II1.
IV.

List-II (Places)
Alwar
Ramgarh
Gatore

Karauli

w11 (eerr)
A

TG

TR

Hich

Choose the most appropriate answer from the options given below:
et few o forpedt & & wrarffares IUgw ST 9
(A) a-Lb-Ic-IId-IV
(©) a-IV,b-IlLc-Ld-1II

(E)  Question not attempted / TR T

\135/\ Who is famous as ‘Wagad Ki Meera’?
(A) Rana Baj
(C©)  Gavri Bai
(E)  Question not attempted

AT AR F 90§ R yRg 20

(A) TomaTg
© e
(B) rgafawy

(A) 1975-1980
(©)  1985-1990
(E)  Question not attempted
IR & Attt 56T o remmarter & wreesy oy TT$ ofyo
(A)  F1975-1980
(C©) 971985-1990

(B) SraRaws

J@4 In which of the following, Rajasthan is the 4
(A) Wheat
(C) Wool

(E)  Question not attempted

wwwﬁéﬂﬁﬁq%ﬁﬂﬁﬁﬁwmmm%?

@
© S
(B) FIORA ¥

%

Al5]

()
@)

(B)
(D)

(B)
D)

Blue Revolution in India was launched during the period :

(B)
(D)

®)
®)

a-ILb-1,¢c-1V,d-III
a-IILb-Ic-IV,d-1I

Karmawati
Panna Dhai

Fntadt

9T 4919

1980-1985
1990-1995

¥ 1980-1985
H7.1990-1995

rgest producer in the country?

(B)
D)

®)

D)

28
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By~ Which of the fojjy,:

ng dams of . .
OPtion frop, below) Rajasthay, is for be

th ilTigalion and Hydroelectricity? (Choose the most appropriat
(A) Ram Sagar Dap
©) Meja Dap, ®)  Rana Pratap Sagar Dam
(E) Question ot attempteq ®  Jawai Dam
T ﬁ@ﬁqmm%ﬁmﬁﬁé&ﬁﬂﬁﬁmaﬁ%mmﬁm%% GEEEREEEIRS
e =33, g
) W g (B) oI e T Ay
©)  Asraiy ©) e
®) iy

. | r)
l§9/ Which of the following taxes is not levied and collected by the State Government of Rajasthan?

(A)S S Taxesion Agricultural Income (B) Taxes on land and structure
(©)  Road/Vehicle Tax o

E) Question not attempted

ﬁtﬁ#@ﬁﬁ%ﬁqmmmmmmmamﬁ%mw?
A) FImwes ®B) T SR EET W
(©) UsF/AEARTT D) JAFHR
(BE) Srafawy

14‘( Which of the following is not a salient feature of the Indian Cor;jmi?i:ro;r;’i’ ot
(A)  Lengtheist written Constitution (E; P:)ViSion B el
(C)  Provisions drawn from various sources (

(E)  Question not attempted

FrfaRaa 3§ & s €t et s 6 e g o 7= 82

e T (B) ErEIfieh 9 HATRRR
GY T (D)  Sredl TR ShT STEET=
() fafr= gt & forg ma e D
(B) uRa s

llowing options 1s arrange i i v hei storage size?
€ 10 i i d m descendlng Ordel of t I Stor 1ze?
14/ Whlch Of th f i : )

Nibble, KB, MB, GB
(A) MB, KB, Byte, Nibble » EBD)) S A
©) Bit, MB, Nibble, KBx - e
(B) Question not attempted / 377
i ies of assembled in India by C-DAC, Pune.
lé/ PARAM is a series T .
(A) Mini Cgmpu:;r 53] 2\ Ehreto: (o
© Micro Comp

(E) Question not attempted

1 T T &, o e, qor gr s # STevere feharm e
. 1

firft st B) gthg(
= Hﬁﬁﬁ?ﬁ:ﬂa (D)  TToRH X
e N
(B) 37gaRd
29
Al15] S




\/ - Ofcomputers uses Vacuum tubes for Circuitry and Magnetic drum of Memory‘)
14, Which genera
(B) Second generation

k{:ts

Al5 ]

(A) First generatlon &
(D)  Fourth generation

(©) Third generanon-

(E)  Question not attempted

mﬁﬁﬁ%ﬁﬁﬁﬁw@m%%ﬁ%wmwm%mw%?

(a) wErdR ®) TErd

(© e (D) et it

() ouRayd () .
()

Duduma waterfall is located in which of the following state?

(A)  West Bengal - (B)  Andhra Pradesh

o

(C)  Jharkahand :E (D) Odisha
(E)  Question not attempted
ﬁnﬁﬁr%qwﬁaamwwfbm%? 7
@) wmEmE (B) sty
© wREe - D)  =Afem
(E) emgafayy :3
Name the left bank trfﬁutary of the Brahmaputra River?
(A) Subansiri (B) Kameng
(C)  Burhi Dihing '(“f‘s (D)  Sankosh
(E)  Question not aﬂempted
mw%aﬁwﬁmmﬁmmm
@) RGO ®) Fw
© FARRew T (@) FF
(B) oHiayy o
4]
- The Western Ghats areknown as ‘Sahyadri’ in which state? %
(A) Karnataka f:é’ (B)  Maharashtra i
(C)  Tamil Nadu Ib: (D) Kerala
(E)  Question not at;éénpted
et T 8 e T T 3 o e e
(A) FieH ™ (B) WEWTZ
(© dfreg B £ ‘
(B) SgERayH (pTOALS
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e

©) Cataract

®) p i
© . resbyopia
ng-it(lon not attempteq @) Hypermetropia
eI ST P 4 ey
A
E ) ﬁﬁh‘ag%aq wﬁ“m%f‘m feran S 27 (et 2 et v e <)
Q) e o AR
EB)  ryaRauy ) :
The adult human denta] formula is:
IIEE q9g &q ‘H?{%
21 2112
(17\) 212
2112 12 (B) 5122
s 2122
Q) o155 32_12 |
= B 515

Question not attempted / 3w 51
< )

w/Given below are two statements: |

Statement (I): Blood transfusion is a method in which blood or blood products are transferred from the circulatory
system of one person to another.

Statement (IT): The first blood transfusion was carried out by Karl Landsteiner.

In light of the above statements, choose the most appropriate answer from the options given below

(A) Both Statement (I) and Statement (II) are true.

(B)  Both Statement (I) and Statement (II) are false.

(C) Statement (I) is true but Statement (I0) is false.

(D) Statement (I) is false but Statement (II) is true.

\\\~t(E) Question not attempted

ﬁlﬁﬁﬁzlﬁw)@Wﬁ%ﬁaﬁ@wﬁﬁa@wﬁﬁ%qﬁéﬂﬁﬁﬁmmﬁﬁm%m

T T ST e QUSRS I forel T e
:?ei;l;ﬁ% mﬁﬁmﬁﬁﬁﬁmﬁ%wﬁwmwaﬁ

3RO (1) ST ST R
R o (1) 2 ae © ®) FHO
i(./é; WEBW%%W(H)W%' () o () 97 & g et () e
(B) aﬂﬂﬁﬁgﬂ

ls/whiCh of the following is incorrectly matched?

i der - CaO

(A) Washing soda - Na,CO, ! (B) Bleaching powder - Cal 1_

1 - 3 5
©) Plaster of Paris - CaSO4-§HZO (D) Baking soda NaHCO,
(E) Question not attempted
Frefetad 3 | forerenT et Het el &2
(a) SRITEIET - Na,CO; ®B) aﬂﬁ;;mt-cao

f 1 I NaHCO ; :
(C) IR 3T 9fE- CaSO, 2 H,0 ©) AR s -
(B) FTARd 5 o
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